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R PV ‘ Ugl ef
U It Us Iy Ups Uga Ig2 -Un S* (J'* Ry RR’ x k A* { Ugt-g1 d Pg max | Pg2 max|Rg1 max| Casg1
Typ Vyrobce Se b o P Pouziti Poznémka Typ Patice
v A v mA \4 v mA vV | mAV | %* | ko | ko n w Vol % w | w | Ma | pF
] 3 3 1 5 6 7 8 9 10 11 12 13 | 14 15 16 | 17 | 18 | 19 |20 | 21 | 22 | 23 | 24 2 26
5EU8 Toshiba 47 | 06 | 125 | 12 125 4 ! ol I % 56 | 0 | pento 5EUS 386
6EUS Toshiba 6,3 0,45 150 18 > ~ o 0 trio 6EUS
- 3.8 1000 12 05 | 05 | 0,016] 85 Cg1/x = 4,06 pF = -
Victoreen 6,3 0,15 4 > > s g1/k = 4,06 pF, Gy = 2,25 pF 7234 387
7234 T 17T a0 | 17 150 | 013 | 3 24 2500 85 | Usmax = 10KV, I max — 8 mA,
6000 | 1,0 150 0,035 | 4 0,9 3 000 85 Ug2 max = 200 V, —Ug1 max = 100 V,
8000 | 08 150 0,02 | 5 0,7 5000 85 Uk/t max = 300 V, ®5 max = 220°C
- 5 30 15 07 o5 | |8 Cape = 3 .
Victoreen 6,3 0,15 > > a/k = 3,45 pF 7683 388
7683 s 200 | 126 250 | 22 | 05 42 28 ! 85 Us max = 1000 V, Ugs max = 250 V
600 | 10,6 250 1,7 1 4,2 34 85 I mix = 20 mA, —Ugl max = 100 V
800 | 12 250 1,6 1 4,2 35 , 85 Us/t max = 300 V, $p max = 220°C
PCF801 evrop. 8,5 0,3 100 15 3 9 20 1,5 0,5 1,8 0 trio, Cg1 = 3,3 pF, Ca = 1,7 pF PCF801 389
ECF801 Tesla 63 | 04 | 200 | 16 8,2 0,01 33b | Usscor =45V, Ser = 3,7 mA/V; ECF801
200 | 12 12 0,01 33b Uosc of = 3,3V, Set = 3,7 mA/V;
170 | 10 120 3 1,4 11 55 >350 2 045 22 | 0,009 0 pento, Ryst = 10 kQ (f = 50 MHz);
<0,012 Rexy = 1500 Q;
200 | 10 3 1,4 5 27 0,1 332 | Rga=2TKQ, Uscer = L6V, Iy = 8 pA;
200 | 93 29 | 0 4,7* 47 1 332 | Rgz=27KQ, Uoseet = 1,6V, Iyy = 2,3 pA;
200 | 10 3 1,412 | 11/0,11 2,7 0,1 84 Rgo = 27kQ;
200 | 13 3,9 ] 14,5 4,7 1 84 Rga = 27k
pento: Uao max = 550 V, Ua max = 250 V, Ug20 max = 550 V, Upg2 max = 250 V, U =250V, Iy = 18 mA
—Ug1 max = 50V, Ukt max = 100 V; ’ e > 1K max >
trio:  Uso max = 550 V, Uba max = 250 V, Ua max = 125V, Ix max = 20 mA, —U, =5V, U
3 g1 max > k/t max = 100 V;
CglP = 6,2 PF, Cap = 3,7 pF, Cgl/gz = 1,6 pF, Cap/aT max = 0,025 PF, CaP/ng max = 0,01 pF, * ’
Ce1p/aT max = 0,01 pF, Cyip/g1T max = 0,01 pF
| ;
PCF803 Telefunken | 85 | 03 | 100 | 15 3 9 20 # L5 | | 05 18 |0 trio, Cg1 = 3,3 pF, Ca = 1,7 pF PCF803
ECF803 Tesla 63 | 04 | 200 | 16 8,2 | | ‘ ] 0,01 33b Ussc et = 4,5V, Ser = 3,7 mA/V; ECF803 389a
200 | 12 12 ‘ ‘ ! } { 0,01 33b | Uoscet = 3,3V, Set = 3,7 mAV;
170 | 10 120 3 1,4 11 55 >350 ] 2 | 045 f 2,2 | 0,000 0 pento, Rygt = 10 kQ (f = 50 MHz),
! ; | <0,012 Rexv = 1500 03
! | i
200 | 10 3 1,4 5% 27 | : 0l 33a Rga = 27kQ, Uosc et = 1,6 V, g1 = 8 pA;
200 | 9,3 2,9 0 4,7% 4,7 | ! ’\ | 33a Rgz = 27TKQ, Usscet = 1,6 V, Iy = 2,3 uA;
200 | 10 3 1,412 | 11/0,11 2,7 ! | 101 | 84 Rz = 27 kQ;
200 | 13 3,9 0 14,5 4,7 \ ‘ l [ 1 | 84 Rga = 27kQ;
pento: Uso max = 550 V, Ua max = 250 V, Ug20 max = 550 V, Upgs max = 250 V, Uge max = 250 V, I = 18
—Ug1 max = 50 V, Ukt max = 100 V; ’ . > e max T AR T max mA,
trio Ua6 max = 550 V, Uba max = 250V, Uz max = 125 V. Iy max = 20 mA, ~Ugt max = 50 V, Uy
> /t max = 100 V;
CglP = 6,2 pF, Cap = 3,7pF, Cgl/gz = 1,6 pF, CaP/aT max = 0,025 pF, CaP/ng max = 0:0’1 pF, o ’
Cg1P/aT max = 0,01 PF, Cgipjgir mex = 0,01 pF
20 400 225 | 045 3  {<0,0025 0 U, =550V, U, =
Lorenz 6,3 0,3 170 12 0 100 4 1 5 5 a0 max 5 Ua max = 300V EAF801
EAF801 Va;vo ’ ’ 200 | 11 0 100 3,3 1,5 45 | 20 600 0 Ug20 max = 550 V, Ug2 max = 300 V, 390
evrop. 250 | 9 0 80 2,7 1 45 | 20 900 0 I mun = 16,5 mA, Ry mas = 10 kQ,
250 | 9 o 100 2,7 2 38 | 20 1 000 0 Ui/t max = 100 V, —Ug max = 200 V,
10 | >0,7 1 I3 max = 0,8 mA, I4 vh max = 5 mA;
250 | 9 0 2,7 220 | 3,8/0,2 1000 84 Rez = 56 kQ gsl =552PFF
=52p
250 | 9 0 27 | %20 | 45/02 900 82 84 Rgz = 62 %5 | Gyt o = 0,06 pF
200 | 11 0 3,3 1,5/20 | 4,5/0,12 600 84 Rez = 30 kQ; | Ca = 2,5 pF
200 | 9 0 2,8 /20 | 4,5/0,12 650 82 84 Rgs = 43 kq; | Cel/a max = 0,001 pF
- Cat max = 0,003 pF
Ca/d max == 0,025 pF
11* 180 8,5 o8 | 5 6 |1,25/2,5 2 6
63 | 06 250 [221/2x26 250 8,4/16 , ,25/2, pento
ECLL800 Lorenz > ) 50 14 d 150 0,5 | 110 trio ECLL800 | 391
250 2x11/2x29 250 4,6/18| 11,5 10% 9,2 8,5 5 i 19 pento
250 | 1,4 150 ! [ | 110 trio
pento: Usp max = 550 V, Us max = 300 V, Ug20 max = 550 V, Ugs max = 300 V, Fi max = 40 mA, U = 200 V;
trio: Uao max = 550 V, Uy max = 300V, Jx max = 5mA; ’ mex ? Vkit max 00 V3
Ca1P1/k+t+g2+g3+s = 8,2 PF, Cpiprjiitrgztgsts = 7,2 DF,  Carjkit+go+gs+s = 5 PF, Canr/kitrgetgsss = 5 pF,
Ce1P1/aPT max = 0,2 pF, Cgipnjapit max = 0,15 pF, Caipiyt max = 0,2 pF, Cyipiryt max = 0,25 pF
3 12,6 0,32 12,6 1,9 12,6 0,7 2,7 400 2,2 0,015 9 pento, Cy1 = 8,5 pF, Cy = 5,5 pF 12
12FR8 Sylvania ) > 12:6 1’ 1,2 10 2,2 1,7 83 trio, Cg1 = 2,6 pF, Cy = 2 pF FR8 392
6486 amer. 63 | 0,175 120 5,3 0 120 3,5 2 3,2 150 220 9 Sp 6486 03
136A Tsylvamia | 63 1025 | 1201 53 o | 120! 33 | 2 3,25 004 | 5 Ce1 = 4,4 pF, Gy = 3,7 pF P
226 227
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